MathVine - Pre-Algebra Name

Mean of a Dataset Date Period

Find the mean of each dataset. Round to the nearest tenth.

mean

. 9,9,8,10,12,6

. 3,11,5,8,7,2,3,9

s 2,5,8,6,5,4

. 11,11,6,3,7,8,7,7,12

s 11,5,11,7,8,6,3,5,7

. 12,9,10,5,11,4,6,3,3

. 2,3,11,5,4,5

. 12,8,12,3,8,4,7,10

. 12,3,3,10,2

o 11,10,11,8,3,3,3

w 2,5,12,12,3,8,6,7,8

e 5,11,12,12,3,10,7,4



MathVine - Pre-Algebra Name

Mean of a Dataset Date Period

Find the mean of each dataset. Round to the nearest tenth.

mean

+9,9,8,10,12,6 9
. 3,11,5,8,7,2,3,9 6
. 2,5,8,6,5,4 5
. 11,11,6,3,7,8,7,7,12 8
s 11,5,11,7,8,6,3,5,7 7
. 12,9,10,5,11,4,6,3,3 7
. 2,3,11,5,4,5 5
. 12,8,12,3,8,4,7,10 8
. 12,3,3,10,2 6
o 11,10,11,8,3,3,3 7
w 2,5,12,12,3,8,6,7,8 7

e 5,11,12,12,3,10,7,4 8



MathVine - Pre-Algebra Name

Mean of a Dataset Date Period

Solution Steps

"9,9.8.10,12,6

To find the mean, first add all the numbers together:
9+94+8+10+1246 =54
ggere are six numbers in the list 9,9, 8, 10, 12 and 6 so we divide by six:

6 =9

The mean of the setis 9

"3,11,5,8,7,2,3,9

To find the mean, first add all the numbers together:
3+114+5+8+7+2+3+9=48

dere are eight numbers in the list 3,11, 5,8, 7, 2, 3 and 9 so we divide by eight:
g =6

The mean of the set is 6

"2,5,8,6,5,4

To find the mean, first add all the numbers together:
24+54+8+6+5+4=30

gBere are six numbers in the list 2, 5, 8, 6, 5 and 4 so we divide by six:
ek

The mean of the setis 5

"11,11,6,3,7,8,7,7,12

To find the mean, first add all the numbers together:
11+11+64+3+74+8+7+7+12=T72

',IT'gere are nine numbers in the list 11,11, 6, 3,7,8, 7,7 and 12 so we divide by nine:

9 =8

The mean of the set is 8



"11,5,11,7,8,6,3,5,7

To find the mean, first add all the numbers together:
114+5+114+7+8+6+3+5+7=063
ggere are nine numbers in the list 11,5,11,7,8, 6, 3,5 and 7 so we divide by nine:

9=

The mean of the setis 7

"12,9,10,5,11,4,6,3,3

To find the mean, first add all the numbers together:
12+9+104+5+11+44+6+3+3 =063
Egere are nine numbers in the list 12,9, 10, 5,11, 4, 6, 3 and 3 so we divide by nine:

9 =1

The mean of the setis 7

"92.311,5,4,5

To find the mean, first add all the numbers together:
24+34+11+5+44+5=30
gaere are six numbers in the list 2, 3,11, 5,4 and 5 so we divide by six:

6 =5

The mean of the setis 5

"12,8,12,3,8,4,7,10

To find the mean, first add all the numbers together:
12+8+1243+8+4+74+10=064
ggere are eight numbers in the list 12, 8,12, 3, 8,4, 7 and 10 so we divide by eight:

5 =8

The mean of the set is 8

"12,3,3,10,2

To find the mean, first add all the numbers together:
124+3+3+10+2=230
ggere are five numbers in the list 12, 3, 3, 10 and 2 so we divide by five:

5 =0

The mean of the set is 6



“11,10,11,8,3,3,3

To find the mean, first add all the numbers together:
11+104+11+8+3+3+3=49

ZBere are seven numbers in the list 11, 10, 11, 8, 3, 3 and 3 so we divide by seven:

7=

The mean of the setis 7

"2.512,12,3,8,6,7,8

To find the mean, first add all the numbers together:
24+5+12+124+3+8+6+7+8 =063
Egere are nine numbers in the list 2, 5,12, 12, 3, 8,6, 7 and 8 so we divide by nine:

9 =1

The mean of the setis 7

“5,11,12,12,3,10,7, 4

To find the mean, first add all the numbers together:
54+11+124+1243+10+7+4+4 =64
ggere are eight numbers in the list 5,11, 12,12, 3, 10, 7 and 4 so we divide by eight:

5 =8

The mean of the set is 8



